5a 56 5B 6a 66 68 7a 76 7B
v pycck OH-JIAUH martem LIOP matem OH-JIAUH uncrop OH-JIAUH cdusunk LLOP
§ ncrop OH-NAWVH pycck LIOP maTtem LIOP pycck OH-JIAMH ctusuk LIOP anrn OH-JIAVH pycck LIOP
5 | pycck OH-JIAMH pycck LIOP maTtem LIOP pycck LIOP martem LIOP pycck LIOP ncrop OH-NAWH cdhusuk LIOP
© |ucrop OH-NAVH| matem OH-NAWH | marem OH-NAWH anrn OH-NAVH pycck LIOP reom OH-NIAVH
I |matem OH-JIAUH| wmcrop OH-JIAUH reom OH-JIAVH reom OH-JIAUH aHrn OH-JIAUH
q;é pycck LLOP ncrop OH-NAWH
=
6uon LIOP ucrop LIOP martem O-J1 matem LIOP anre6pa LIOP
o pycck LIOP pycck OH-JIAUH martem O-J1 pycck LIOP ucrop LIOP anre6pa LIOP obwecrs LIOP 6unon LIOP
= 6uon LIOP marem LIOP marem LIOP ucrop LIOP pycck LIOP obwecrs LIOP 6uon LIOP anre6pa LIOP
g_ marem LIOP pycck OH-JIAUH anre6pa LIOP anre6pa LIOP obwecrs LIOP
o 6uon LIOP pycck O-11 anre6pa LIOP pycck O-11
5 marem LIOP 6unon LIOP pycck O-J1
ncropus LLIOP matem OH-JIAUH martem LIOP pycck OH-JIAUH reorp O-/1 pycck LIOP anre6pa O-11
pycck OH-JIAVIH martem LIOP marem LIOP pycck LIOP reorp LIOP pycck OH-NIAVH anre6pa O-11 reorp O-J1 pycck LIOP
© |maTem OH-NIAVH pycck LIOP ucropus LIOP reorp LIOP pycck OH-NIAVH matem LIOP dusuk LIOP aurn LIOP reorp O-J1
3 martem LIOP ucropusa LIOP pycck LIOP pycck LIOP reorp LIOP aHrn LIOP anre6pa LIOP cdusuk LIOP
8. anre6pa LIOP dnsmnk LIOP aurn LIOP
marem LIOP pycck OH-JIAUH ucrop LLIOP martem LIOP ncrop OH-JIAUH aHrn LLOP
_ pycck OH-JIAVH matem LIOP maTtem O-J1 pycck LIOP ncrop LLOP pycck LLOP ncrop OH-JIAVH .
a maTtem LIOP uncrop LIOP pycck LIOP aHrn LLOP anre6pa 0-11 uncrop OH-JIAMH
Q| pycck OH-NAWH maTtem O-J1 anre6pa LIOP anre6pa LIOP aHrn LIOP
5 maTtem LIOP anre6pa LLOP
I anre6pa LLOP
marem LIOP pycck LIOP pycck LIOP matem LIOP dusuk 0-11
© pycck OH-JIAVIH martem LIOP martem LIOP pycck LIOP dusuk 0-11 reorp LIOP reom LIOP
= marem LIOP pycck LIOP pycck LIOP pycck LIOP reorp LIOP reom LIOP cdhusuk 0-N1
§ pycck LIOP martem LIOP reom LIOP pycck OH-JIAVH reorp LI.OP_
iU—: martem LIOP pycck LIOP pycck OH-JIAUH
=

LIOP - uncposbie o6pasoBaTenbHbie pecypcsl, O-J1 (OH-JIA/H) - Bugeocsssb




8a 86 88 8r 9a 96 98 9r 10a 106 108 1la 116 11B 11r
% pycck uop | anre6 LIOP | anre6pa O-J1 anre6 O-11
§ anre6pa O-J1| anre6 LIOP | pycck O-J1 | anre6p LIOP anre6 LIOP aHrn LLOP anre6 LLOP
) pycck LIOP | anre6p LIOP| 6uon LIOP pycck LIOP pycc uop nHob O-11 anre6 O-J1 | o6uwec uop |bun3 OH-NaiiH| anre6 LIOP | anre6 O-/1
6 pycck LIOP 6uon LIOP pycck LIOP | pycck LIOP | anre6 O-J1 anre6 LIOP pycc O-11 nHod LIOP anre6 LIOP | anre6 LIOP ¢dns LIOP xum LIOP o6uwec uop
I | anre6p LOP | pycck LLOP 6uon LLIOP pycc uop pycc O-11 anre6 LLOP aHrn LLOP uHdb O-J1/- | anre6 LLOP aHrn LLOP obuwec yop | wmcrop LIOP
S-:’ 6uon LLOP anre6 LLOP anre6 O-J1 | uud LIOP/- |bu3 OH-NaitH| anre6 LLOP aHrn LLOP ucrop LIOP
E anre6 LIOP ¢us LLOP anre6 LIOP vHd LIOP vHd LIOP
K:pycc O-J1 | K:pycc O-J1 | anre6 LIOP wncrop LIOP nHép LLOP pycck 0-J1 hHd(0)/pus O-J]
w reorp O-J1 | xumusa LIOP anre6 LLIOP | K:pycc O-J1 | K:pycc O-J1 | anre6 LIOP reom O-J1 ucrop LIOP mHdp LIOP vt LLOP | mud(U)/ dbusLy
= xumusa LIOP | dmsuk LIOP K:pycc O-J1 | anre6 LIOP | anre6 LIOP | K:pycc O-J1 reom LIOP nudp LIOP ucrop LIOP | pycck O-J1
g_ reorp O-J1 | dun3unk LIOP | o6wect LIOP| xumusa LIOP | K:pycc O-J1 | anre6 LIOP | anre6 LIOP | K:pycc O-J1 reom O-J1 aHrn0-J1 _|cdun3/6mo O-JI wnHd LIOP nutep O-J1 | wmcrop LIOP vt LIOP
o xumusa LIOP | o6wect LIOP| anre6p LIOP | anre6p LIOP | anre6 LLIOP reom LIOP aHrn UOP |du3/6molOP| nutep O-N uncrop LIOP aHrn LLOP
5 reomertp O-J1| anre6p LIOP | reorp O-J1 | o6wecr LIOP cdbunznk 0-11 reom O-J1 ncrop LIOP aHrn LIOP
o6wecr LIOP anre6p LIOP | reorp O-J1 hunsuk LIOP reom LIOP 6uon LIOP 6uon LIOP 6uon LIOP
pycck LIOP |reomertp LIOP| K:mar O-11 reorp Llop reom Llop reorp Llop reorp Llop
ucrop O-J1 6uon O-J1 |[reometp LIOP reom LIOP uHop O-J1 reom Llop husuk 0-11 aHrn LLOP
© | $un3nk LIOP | anre6p LIOP | pycck O-J1 6uon O-N K:pycc O-1 pycc O-11 nHob LIOP ncrop LIOP | anre6p LIOP | reom Llop aHrn LIOP ¢dns LIOP reom O-J1
3 anre6p LIOP | reorp LIOP 6uon O-J1 | cdbumsuk LIOP K:pycc O-J1 | pycck LIOP reom LIOP | anre6p LIOP | ncrop LIOP | pycck O-J1 reom Lop |dbu3 OH-JlaitH _aHrn LIOP reom Llop
[a) 6uon O-N pycck LIOP | reorp LIOP ucrop O-J1 reom LIOP reom LIOP pycc O-J1 pycck O-J1 | anre6p LIOP |mHd/xumO-J1| aHrn LIOP cdus LIOP reom Llop ucrop LIOP
o reorp LIOP ucrop O-J1 | anre6p LIOP | anre6p LIOP K:mar O-J1 pycck LIOP pycck O-J1 |uHdb/xuMLIOP|du3 OH-J1aitH reom Llop ucrop LIOP
ucrop O-J1 reorp LIOP K:mar O-11 ¢dus LIOP
anre6p O-/1 | ¢m3uk O-11 xum O-N1 pycc O-11 dbuzuk O-11 anre6p LIOP xumusa LIOP | o6uwec O-J1
= xum O-N1 anre6p O-11 reom O-/1 pycc O-11 anre6 O-J1 cdhusuk LLIOP maT(3) LOP | o6wec O-11 uHep O-J1 nutep LIOP uHep O-J1
a dhuzuk O-11 xum O-N1 reom LIOP pycck LIOP | anre6 LIOP anre6 O-J1 | anre6p LLOP aHrnO0-N1 | pusuk 0-J21/-| pycck LLOP nH¢p LLOP nutep LIOP nH¢p LLOP
g xum O-1 ¢hu3nk O-J1 | anre6 O-J1 pycck LIOP anre6 LLOP | mar(3) LUOP | aurn LUOP |dusuk LOP/-| wund O-N pycck LLIOP 6uon LLOP nutep LIOP
5 cdhuzuk O-11 anre6 LLOP anre6 O-11 anre6p LIOP uHep LLOP c¢bu3 LLOP 6uon O-11 nutep LIOP
I anre6p O-11 anre6 LLOP ¢u3 LLOP ob6wec yop aHrn LLOP
anre6p LIOP K:maTt O-/1 aHrn LLOP
reom O-J1 ucrop LIOP anre6 LLOP | nutep O-N1 xum O-J1
© cdhusuk LIOP reom O-J1 pycck LIOP reom LIOP K:pycc O-11 | ¢dusmk LLOP aurn LIOP anre6 LLOP vt LIOP xum LIOP
= ncrop LIOP | ¢dumsuk LIOP | anre6p LIOP K:maTt O-/1 reom O-J1 wuct LLOP  |bus/xum LIOP anre6 LLOP 6uon O-1N1 anrn LLOP
§ reom LIOP ucrop LIOP | dusuk LIOP K:pycc O-J1 | K:mar O-J1 ucr LIOP /6mnon LIOP | nurep O-N1 | anre6 LIOP anrn LIOP obwec O-J1
= cdunsuk LLOP reom LIOP reom O-J1 nut LIOP anrn LLOP anre6 LIOP | anre6 O-/1
E ucrop LIOP K:mar O-J1 K:mar O-J1 anrn LOP | o6wec O-/1 | anre6 LIOP | anre6 LIOP
xum LIOP xum LIOP
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